
Jacobs Vehicle Systems, Inc.   i   22 East Dudley Town Road  Bloomfield, CT USA 06002   i   P/N 00-042032 REV B 11/12  i   ©2012 Jacobs Vehicle Systems, Inc. jacobsveh iclesystems.com

Detroit Diesel Series 60/Series 50 Engine Brake Identification Guide

Master Piston Slave Piston Adjusting Screw Flat Spring
Housing 
Drilling

M
od

el

La
sh

 Se
tt

in
g

Pa
rt

 N
um

be
r (

Se
rv

ice
)

De
sc

rip
tio

n

Di
am

et
er

Pa
rt

 N
um

be
r (

Se
rv

ice
)

De
sc

rip
tio

n

Di
am

et
er

Pa
rt

 N
um

be
r (

Se
rv

ice
)

De
sc

rip
tio

n

Di
am

et
er

Pa
rt

 N
um

be
r (

Se
rv

ice
)

De
sc

rip
tio

n

Ac
cu

m
ul

at
or

 B
or

e 
(C

ro
ss

 H
ol

e /
 N

o H
ol

e)

750 .026”

017565 15/16” 0.936”
017048 Standard 0.874”

020382 Power-Lash, .071-.078” 1/2”

017658
1.17” Flat side 
to Slot Offset

Cross Hole
750A* .023” 025681 Power-Lash, .068-.082” 5/8”

750A .023” 020382 Power-Lash, .071-.078” 1/2”

750B .023” 024338 J-Lash Counterbore 1.125” 028082 J-Lash, .023” 5/8”

760** .026”

012981 7/8” 0.874”

017048 Standard 0.874”

015931 Reset, .035-.045” 1/2”
016535

1.37 Flat Side 
to Slot Offset

No Hole
760 .026” 020382 Power-Lash, .071-.078” 1/2”

760A .026” 020382 Power-Lash, .071-.078” 1/2”

017658
1.17” Flat side 
to Slot Offset

760B .023” 025380 Power-Lash, .128-.142” 1/2”

765 .026”

017565 15/16” 0.936”

020382 Power-Lash, .071-.078” 1/2”

Cross Hole
765A* .023” 025681 Power-Lash, .068-.082” 5/8”

765A .023” 020382 Power-Lash, .071-.078” 1/2”

770 .023” 024338 J-Lash Counterbore 1.125” 028082 J-Lash, .023” 5/8”

Fla
tb

ra
ke

790 .026”

026932 7/8” 0.874” 026142 Standard 0.750”

028341 J-Lash, .020”, Green 5/8”

790A .026” 029299 J-Lash, .023”, Yellow 5/8”

790B .026” 029316 J-Lash, .017”, Purple 5/8”

790C .026” 029309 J-Lash, .026”, Orange 5/8”

790D .032” 029316 J-Lash, .017”, Purple 5/8”

795 .032” 029864 Solid Screw 3/8”

797 .020”

031282 1” 1.000” 031324 Standard 0.812”

031270 Solid Screw 3/8”

797A .020” 031270 Solid Screw 3/8”

797B .020” 031270 Solid Screw 3/8”

*Early 765A and 750A (Approx First 3000 Engines)
**Early 760 - Serial Numbers Below E-24052


